
Β ΛΥΚΕΙΟΥ ΘΕΤΙΚΟΣ ΠΡΟΣΑΝΑΤΟΛΙΣΜΟΣ 
5.24     1) 

Είναι           γ 3α 8β γ 3 2, 3 8 1, 1 γ 6,9 8, 8 γ 2,1                 

και          δ 4α 9β δ 4 2, 3 9 1, 1 δ 8,12 9, 9 δ 1,3                 

Οπότε   1 2 1 2

2 2 2 2 2 2 2 2

1 1 2 2

x x y y 2 1 1 3 5 5 5 1 2
συν γ ,δ

25 10 50 5 2 2x y x y 2 1 1 3


   

      
     

 

Άρα  
ο ο0 γ,δ 180

ο2
συν γ ,δ (γ ,δ) 45

2


  

    

5.24     2) 

Είναι          γ 11α 8β 11 1, 2 8 1,3 11,22 8,24 3, 2                

και           δ 8α 7β 8 1, 2 7 1,3 8, 16 7,21 1,5            

Οπότε   

   
2 2 2 2

γ δ 3 1 2 5 13 13 2
συν γ , δ

213 26 2 13γ δ 3 2 1 5

       
       

        

 

Επομένως   
ο2

συν γ , δ γ , δ 135
2

    
      

   
 

5.24     3) 

Είναι          γ 5α 9β 5 2 3,3 9 3,2 10 3,15 9 3,18 3, 3         

και           δ 6α 10β 6 2 3,3 10 3,2 12 3, 18 10 3,20 2 3,2             

Οπότε   
 

     
2 22 2

3 2 3 3 2γ δ 12 13 3
συν γ , δ

312 16 2 3 4γ δ 3 3 2 3 2

     
       

        

 

Επομένως   
ο3

συν γ , δ γ , δ 150
3

    
      

   
 

 

 

 


